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QUESTION 1

Which protocol provides applications the ability to connect to and update multiple DB2 databases within the same
transaction?

A. Type-1 connect
B. Type-2 connect
C. Type-3 connect
D. Type-4 connect

Correct Answer: B

QUESTION 2

In a trusted context environment, if a switch request is made with an authorization ID that is not allowed on a trusted
connection, what state is the connection placed in?

A. Locked

B. Waiting

C. Pending

D. Unconnected

Correct Answer: D

QUESTION 3

Which statement about large object (LOB) locators is true?

A. A LOB locator is a data type that is used to store LOB data in binary files.

B. A LOB locator is a data type that is used to store LOB data in a database.

C. A LOB locator represents a value for a LOB resource that is stored in a database.
D. A LOB locator represents a value for a LOB resource that is stored in a binary file.

Correct Answer: C

QUESTION 4
Which object can a buffer pool be assigned to?

A. Schema
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B. Table space
C. Storage group

D. Stored procedure

Correct Answer: B

QUESTION 5
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Which DB2 object is associated with PREVIOUS VALUE and NEXT VALUE expressions?

A. View

B. Table

C. Sequence

D. Identity Column

Correct Answer: C
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